
















































odejmowanie(ulamek a, ulamek b)





ulamek wynik, nowe_a, nowe_b;      int wsp;





a.mianownik!=b.mianownik





wsp = a.mianownik * b.mianownik; nowe_a.licznik = wsp / a.mianownik * a.licznik; nowe_b.licznik = wsp / b.mianownik * b.licznik; nowe_a.mianownik = nowe_b.mianownik = wsp;





nowe_a = a;                 nowe_b = b;                        wsp = a.mianownik;





wynik.licznik = nowe_a.licznik - nowe_b.licznik; wynik.mianownik = wsp;











"wynik: "                                                                                     setw(5)  a.licznik "    " setw(5) b.licznik  "     "  setw(5) wynik.licznik                                                                                         "------ - ------ = ------"                                                                 setw(5)   a.mianownik "    " setw(5) b.mianownik "     " setw(5) wynik.mianownik
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"wynik: "                                                                                     setw(5)  a.licznik "    " setw(5) b.licznik  "     "  setw(5) wynik.licznik                                                                                         "------ + ------ = ------"                                                                 setw(5)   a.mianownik "    " setw(5) b.mianownik "     " setw(5) wynik.mianownik











wynik.licznik = nowe_a.licznik + nowe_b.licznik; wynik.mianownik = wsp;





nowe_a = a;                 nowe_b = b;                        wsp = a.mianownik;





wsp = a.mianownik * b.mianownik;   nowe_a.licznik = wsp / a.mianownik * a.licznik; nowe_b.licznik = wsp / b.mianownik * b.licznik; nowe_a.mianownik = nowe_b.mianownik = wsp





a.mianownik!=b.mianownik





ulamek wynik, nowe_a, nowe_b;      int wsp;





dodawanie(ulamek a, ulamek b)





KONIEC





"wynik: "                                                                                     setw(5)  a.licznik "    " setw(5) b.licznik  "     "  setw(5) wynik.licznik                                                                                         "------ * ------ = ------"                                                                 setw(5)   a.mianownik "    " setw(5) b.mianownik "     " setw(5) wynik.mianownik











ulamek wynik;                    wynik.licznik = a.licznik * b.licznik; wynik.mianownik = a.mianownik * b.mianownik;





mnozenie(ulamek a, ulamek b)





KONIEC





"wynik: "                                                                                     setw(5)  a.licznik "    " setw(5) b.licznik  "     "  setw(5) wynik.licznik                                                                                         "------ / ------ = ------"                                                                 setw(5)   a.mianownik "    " setw(5) b.mianownik "     " setw(5) wynik.mianownik











ulamek wynik;                                                    wynik.licznik = a.licznik * b.mianownik; wynik.mianownik = a.mianownik * b.licznik;





dzielenie(ulamek a, ulamek b)





START





ulamek a, b;                      int k;                                char bufor[256];





 "wybierz dzialanie: "                                         "1. dodawanie"                                                   "2. odejmowanie "                                                  "3. mnozenie "                                                        "4. dzielenie "                                                        "wybor: ";








Pobierz  k;








k<1 || k>4





fflush(stdin);





"podaj pierwsza liczbe: "





gets(bufor);





sscanf(bufor, "%d / %d ", &a.licznik, &a.mianownik);





a.mianownik==0





"mianownik musi byc rozny od zera!"





 setw(5) a.licznik                                 "------"                                          setw(5) a.mianownik 


            cout << endl;





a.mianownik==0
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b.mianownik==0





 setw(5) b.licznik                                 "------"                                          setw(5) b.mianownik 


            cout << endl;





"mianownik musi byc rozny od zera!"





b.mianownik==0





sscanf(bufor, "%d / %d ", &b.licznik, &b.mianownik);





gets(bufor);





"podaj drugą liczbe: "





fflush(stdin);
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Pobierz k





k==1





k==1





k==1





k==1





dodawanie(a, b); 





odejmowanie(a, b); 





mnozenie(a, b); 





dzielenie(a, b); 








